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1. BDB [aBsll 12 el sulEdll 1R adqd g 2 g dleHAl vl sl
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(1) Aldd usdR 214
(2) Al w3l GualaL 530 oAl 14

548 [Qoal :

4
A1 154 100
S HlaAHLAAL usdR 30
g 1YLl udz 20
AAd Gauted (AUl w2l 10
S MAMR U3dR : 4
Rz Gaule RRIYF] w3l 1,00,000
Rz darel vl 30,000
Rez adladl wal 50,000

Aldd dael vl el GluwHdl 10% %edl 9 A AL Gaulealbd Hils
11,000 215411l €9 24 o1e yoordl RS Rar Gauleq BRI wal ? 1,10,000 ©.
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PPP [&[H2s uHISL UiddR Ugla-dl M 53 9. M2l 2015 (Ml dd eige yorelq

dA18L 10,000 2UsHid, 9 2 dARUEHA 2UsHels T 280 . BUIR MR dARL 9,000
W5l ed 2 2sHels dARGBHA T 300 edl. d Hed el usdz-l Milsdl
1A yrol .

(@o1a uHgL (%) W (3)

HlAALHLA 5,00,000 5,94,000
o3l
Raz [RIRIUA vl 3,90,000 2,70,000
lad BRI WA 3,00,000 3,42,000
wed-2ldd (R v 2,70,000 2,43,000

6,00,000 5,40,000

(1)

2

3)
4

€25 sHHL HIAAHIAG uHeL 10 [Bal 9, @Al wHieieia Baiels T 5 9, 2dR
vRuR 11 (el wid quidl 4 Balels Bud T 6 ©.
uHIRL HYRL 2suLls 6 salsl, sdalsels T 10 dvl 9, IR vRuR HYRL
5 sdls, sdlsels T 12 Av .
we-Ad [RIRIUEL wAHL 5/9 ¢l Ra vl €9 i 4/9 oL Aldd vl ©.
A3l 22Ls &l Al Ml eFanAL Ayel Gaulenq duelL 2 o1y .
A2l 2 1d] s -
(a) AL, A, 1L dal R vl [aaddl, oul dsfad sieiq

el
(b) UL 5L AUl vRvR sl Haael salad usls et-ldl.

L]

XYZ (a2l D2 20uel Hiledl vl 201l [Qaddl 2 S0 [Raadi-l

ARLARl A dal (Rl asid dar 2udl QA 24 4 ARl asi da
AL [@AaAL a1l 521 dz ueulisod ugld 3ot [Qaadi-l awidil 5.

Sudll 2elwust Harel dulR Hid-AL 215 2sH e 20 By sial v Bal-

A 2ls T 10 otd %33 . ud [A2a oo 2 ustRAL sl el Bad adlq
Balud 2ls T 15 -l 4 el d-dl 2adoui adl ad ddl 2100 5190 e (@l
uedel o uieoll 531 wsAL Sld) A ¥ wHRML BaluH ds T 12 -l eud Mol a
dH gdl.

aAx 9di Su-dlal ard e(Ma Yo vielust Yol % 44,000 (BalauH sl 1A

% 6,38,000 i Wleld 2,000 2sHld, Gaule s ed.
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3. ABC GBcules 5u-l d-ll Gauleald-dl 80% ulsdl 40,000 s¥ld Guled $2 €9
e 2U54LLS T 250 AVl d dALeL s30T 501 U AFL SHIA €. 14

ardl A28l usdz 12l Yot ¢

UAE HIAALMLA Z 80

Uds 13l % 60

sRVUALL BRI Wil T 40 (50% RaR)

Quatl BRI Wl T 20 (25% Aldd)

Al el d wedl o Avaml Gauled 5241 MWL €9, URd, dedl dRRIL A 9 3
(@) ol RBuR w3dHl 20% L Q4L 49l

(b)  Uc& ML e4i 20% . AHRL Ul

(C)  McUE HLAAMLAAL MULAML 5% Ul ARl 2l
(@)  AAREHAHL aaRl 530 wasigl s,

L AAUHL A d-l GenleAaBdl asiidl 20% e s 28 Ml 9. 2
Beuled AA Fld T 15,00,0001 A5l sHIAdl Sld dl del i & Ul dgaH [(BHd
sedl sedl S 2 RaR v eladl Gaulemizll aye iy © 2 Hidl dl.

YA
3. (A Bud Al 4R 28 52l uReol amendl. 7
(B) 44 U3dR 2URd [Bud [Mal2el siuel a4endl. 7

4. (A) dldl HyssuloL [ABsA 140 wiell-l qul etdladld, 22 oi-iddld €. Su-lul

LAl 20 YUl a32tdAl deisst Al usdr y2i 53l ¢ : 7
ERIR] ®)
UAE HIAAMI (20 x T 20,000) 4,00,000
U 131 (80,000 sALsl T 4 Avl) 3,20,000
oAl W (531 Al wsid) 80,000
A RIRIFL val HgR salsels T 1 av) 80,000
Rz [RIRIUF vl 2,00,000

N

L BRAML 80% U ds @d) Ul astd 9. HiS[EoL dAwRd HIdg © 5 ol

N

L 28 T 42,00,000 oAl ay [Budd ol dl dlsiRaldl asadl Adl, 4 d i
9 5 Su-dl Wl s1H 2 © dell 2L S2AR HeTAAL 9.

dHiz ddiZl st suall 9 03 2 5 T 42,00,000 L Bud <513
ASIU. dHIRL 2AgHLAL UL
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(A) UddR g 2 UgdR d2lil oiddl dslad AHAdl.
(B) 4yt dssd AL AHlsReL A yoor ¢

y=ax® Pl y = suels ArRAW AHA
a = UAH sU-l A¥Y
x = §4 Wsul

b = AU ASIRLS

A a=100 5cl5 ¢l 2 b = — 0.152 % 90% MUt 45 HIE &ld dl 51 4l
60 254l Uil $d AUl awld?l 530
AL Aledl 2udl ¢ :
log 1 =0.0000 Antilog 0.7418 = 5.518
log 5 =0.6990 Antilog 0.7297 = 5.367
log 6 =0.7782

YA

(B) uid? gl uglaxil Axendl.

5. Yy [aseu-dl udsoll s2.

)]

2

3)
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AL UG 54 Yo WY © ?
(a) 54 Rz yle v [ = (UHIEL sALsl x sAlsels W e —uiRuR )
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(d)  GUR-L aHL %

AL UG 54 Yo WY © ?

(a)  SIH0F] [Qaan = YuiRe uMIeL — wvuR ulReus
(b) Ul [QAAA = YO UHIBI — YHUIRE UHLLl

(¢)  ueulasord [Aad = oo IRl — viev uRRuH
(d)  GUR-L aHL %

AL U4 59 w1 © ?

(a) [ad dwd sadl vld 21U 3 = PC) + (1 -P) (C + M)
(b)  [ad dwd A€l sl WA 2UEd 4t = P(C) + (1-P) L
(c) % C < (1-P)L &l dl [Qadd-dl dau sl ot

(d  GUR-L aUL %
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(4)  AlAd udd? ugld Hrel Gauled uddr »ed
(2)  UcdE HIAAMIT + UEL UYL + $A SIRvUAL UR1EL v
(b)  UcdE HIAAML + UdE 1L + RAR s12vAL uRlg vl

(€)  UcE HLAAMIT + Uda 1R + Aldd sl yRig vl + Aldd agladl
i QAL w2

(d)  Gua-L U5l 2isuelL Ad]

(5) Al usdR ugld Yol Gauled usdR »ed

(2)  UcdE MIAAMI + U8 HYRL + Ude WA + WIVR A sIRvIAL YRl
u2l

(b) & HIAAML + UdE 1YL + Ucdal vl + Aldd s1RviAL uRle vl

(€)  UcdE HIAAMLA + Ucde HYT] + Uda v + wuR R S1RviHL YRla
v

(d) Gu-L U5l 2isuelL Ad]

(6) <Ll UL 54 Yot A 9 2
(a) 54 R ula v [ = (HLL salsl x salsels L. 82 — WRUR )

b 4 Raz e vl [[QAdd = (uRYR GAlled x wsHels U g —
wIWR )

(©) 54 Raz yla v [ = el vl — vuR wal)
(d)  GUR-L aUL %

(7)  HaAHAL gl uglani 2 WSl 5O otold-dl AH1A9 Adl 2l ?
(a)  HlaMi viga-ll slofladl. ugld.
()  Haall ozl [Qlay audlail 455l sl
(©)  HauAld aollsel 529 2 dn Asi 2uudl.
(d)  BudL USL AAsuBL &l

(8)  ~llA1 Usl 54 ot A1y el ?
(@) d2El AULE] = (AYHL 9Y QURAL X AYHL Ay, AHY)

(b) d3dH AU = del AU — (GALYML oL AUAL X VYL 2Ll
AHY) + AEL el

(¢)  @gTd AUl = ARl AULEL — (AU AU X AR AHAU)
(d)  BGu-L U5l 2isuelL Ad]
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(9) 2L Usl 54 Yot uRla vl AydldHl sALsels e Hied © ?

(@)  VRUR uLE vl = vRUR sAlsl
(b)  olwe Yuoldl ule vl + wIvR salsl
(¢)  MRUR YRia v + oge Hael-l sdlsl

(d)  BGu-L U5l 2isuelL Ad]

(10) MR FRetedl el AL s1200 Usl 54 51281 g2 531 Asld g © ?

(a) G AuasiHl diell aledl 2»eud 2 2L dRelw] ¥ vl
AL

(b) s 2R
(c)  YURAUSHU Al Aein

(d)  GUR-L aUL %

(11) AL WSl 56 Usd YA A5l AU WA 9 2
(a) UcdE HYl
(b)  GBcUler UidR
() Aldd ua v

(d)  GUR-L aHL %

(12) 2 U8l 54 wRen BHd llaqd st s2d el 2
(a)  Gcule-l usdz
(b) Uselal dRial
(c) QL uegl-l A

(d)  BGua-L U5l 2isuelL Ad]
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(13) AL WSl 59 ouold aals 2uald Bud Haler ad deiltd ¢ 2
(a) Al HedHlswl
(b) eilsld g2 2AviAl
(©)  UelaHl A5l 3l U SR9d and-l €2

(d)  GUR-L aHL %

N\
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(@)  Alesl HidL 2 91y
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(c) &35l ULEdl

(d  GUR-L aHL %
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1. From the following information of BDB Ltd., prepare profit statements for the months
of June and July using :
(1) Variable costing and
(2) Absorption costing. 14
Data per unit :
3
Selling price 100
Direct materials cost 30
Direct Labour cost 20
Variable production overheads 10
Monthly actual costs : 4
Fixed production overheads 1,00,000
Fixed selling expenses 30,000
Fixed administrative expenses 50,000

Variable selling costs are 10% of sales revenue and normal production capacity is
11,000 units per month and budgeted fixed production overhead per month is
< 1,10,000.

Month | Sales (units) | Production (units)

June 10,000 13,000
July 12,000 10,000
OR
1.  (A) Explain the difference between absorption costing and variable costing. 7
(B) Explain the advantages of variable costing. 7

16H-102 8



2. PPP Limited operating on a standard costing system. During March, 2015 its budgeted
sales is 10,000 units, at I 280 per unit, whereas actual sales were 9,000 units at ¥ 300

per unit. Costs relating to that period were as follows : 14
Particular Standard ) | Actual %)

Materials 5,00,000 5,94,000

Wages 6,00,000 5,40,000

Fixed Overheads 3,90,000 2,70,000

Variable Overheads 3,00,000 3,42,000

Semi-variable Overheads 2,70,000 2,43,000

(1) The Standard material contents of each unit is estimated at 10 kg. at I 5 per kg.,
whereas Actual consumption were 11 kg. at ¥ 6 per Kg.

(2) The standard wages per unit are 6 hours at I 10 per hour whereas actual wages
were 5 hours at T 12 per hour.

(3) Semi-variable Overhead consists of 5/9" fixed expenses and 4/9™ variable
expenses.

(4) There were no opening stocks and the whole production for the month was sold.

You are required :

(a) To compute the variances in Sales, Materials, Labour and Overheads due to all
probable causes, and

(b) Draw a statement reconciling the actual profit for the period with the standard
profits.

OR
2. From the following information of XYZ Ltd., compute Planning Variances and
Operating Variances and also calculate the Avoidable Planning Variance and
Unavoiodable Planning Variance and also calculate variances as per conventional

approach.

As per budget of a company, raw material of 20 kg. is needed per unit of finished
product at a price of ¥ 10 kg. But due to rise in prices for this type of material in the
world markets, the average market price of the material has risen to I 15 per kg, an
alternative raw material similar to the original material, which could have been choosen
instead of original material and used in the same quantities had an average market price
of T 12 per kg.

During the year, the company produced 2,000 units at a cost of ¥ 6,38,000 by
purchasing 44,000 kg. of material as per original budget. 14

16H-102 9 P.T.O.



3. ABC manufacturing company produces 40,000 units at 80% production capacity and
earns an average profit of ¥ 50 by selling it at ¥ 250 per unit.

Its cost of sales is as follows :

Direct Materials ¥ 80

Direct Labour I 60

Factory Overheads X 40 (50% fixed)
Selling Overheads X 20 (25% variable)

During the current year, they intend to produce the same number but anticipate that

(a)
(b)
(©)
(d

Their fixed costs will go up by 20%.
Rate of direct labour will increase by 20%.
Direct material price will increase by 5%.

Selling price cannot be increased.

Under these circumstances they obtain an order for a further 20% of their capacity.
What minimum price will you recommend for accepting the order to ensure the
manufacturer an overall profit of ¥ 15,00,000.

3. (A
(B)

4. (A

16H-102

Assume that the fixed cost is recovered from the current production. 14
OR
Explain the factors affecting on pricing policies. 7

Explain the advantages of Full cost pricing.

Dhriti Manufacturing Limited has received a contract for supplying 140 water
pumps. They have just completed an initial run of 20 pumps at the following

cost : 7
Particulars ®
Direct Material (20 x ¥ 20,000) 4,00,000
Direct labour (80,000 hours at ¥ 4) 3,20,000
Tooling cost (reusable) 80,000
Variable overheads (X 1 per hour) 80,000
Fixed overheads 2,00,000

An 80% learning curve is thought to be pertinent in this case. The marketing
manager believes that the quotation is unlikely to be accepted if it exceeds
% 42,00,000 and as the company is short of work, it believes that the contract to be
vital.

You are required to comment whether it is worth accepting at ¥ 42,00,000.
State your assumptions.

OR
10



(A) Explain the difference between Cost Control and Cost Reduction.

(B) The usual learning curve model is as follows : 7

y=ax

b where y = Average time per unit

a = Time for the First unit
x = Cumulative number of units

b = Learning co-efficient

Calculate total time for 51 to 60 units.

If a =100 hour and b = — 0.152 for 90% learning curve.
Following information is given :

log 1 =0.0000 Antilog 0.7418 = 5.518

log 5 =0.6990 Antilog 0.7297 = 5.367

log 6 =0.7782

OR

(B) Explain the methods of Cost Control.

5. Select appropriate alternative. 14

(1)  Which of the following formula is true ?

(a)
(b)
()
(d)

Total Fixed overhead variance = (SH X SR per hour — AC)
Fixed overhead budget variance = (BH x SR per hour — AC)

Fixed overhead volume variance = SR per hour (SH — BH)
All of the above

(2)  Which of the following formula is true ?

(a)
(b)
()
(d)

Operating variance = Revised standards — Actual results.
Planning variance = Original standards — Revised standards.
Conventional variance = Original standards — Actual results.
All of the above.

(3)  Which of the following is true ?

(a)
(b)
(©

(d)
16H-102

Expected value of cost of investigating the variance = P(C) + (1 — P) (C + M)
Expected value of cost of not investigating the variance = P(C) + (1 —P) L
Variance should be investigated if C < (1 —P) L
All of the above

11 P.T.O.



(4) Production cost as per variable costing method means

(&)

(6)

(7

®)

16H-102

(a)
(b)
©

(d)

Direct materials + Direct wages + Total factory overheads.
Direct materials + Direct wages + Fixed factory overheads.

Direct materials + Direct wages + variable factory overheads + variable
administrative and S & D overhead.

None of the above.

Production cost as per absorption costing method means

(a)

(b)

(©

(d)

Direct materials + Direct wages + Direct expenses + Total actual factory
overheads.

Direct materials + Direct wages + Direct expenses + Variable factory
overheads.

Direct materials + Direct wages + Direct expenses + Actual fixed factory
overheads.

None of the above.

Which of the following formula is true ?

(a)
(b)
(©)
(d

Total Fixed overhead variance = (SH X SR per hour — AC)
Total Fixed overhead variance = (AQ X SR per unit — AC)
Total Fixed overhead variance = (Standard cost — AC)

All of the above

Which of the following matters are not included in inventory control system ?

(a)
(b)
(©)
(d

ABC system of inventory control.
Fixing various Quantity levels of inventory.
Classifying and Identifying Inventory.

None of the above.

Which of the following formula is not true ?

(a)
(b)

(©
(d

Ordering level = (Maximum consumption X Maximum time)

Maximum level = Ordering level — (Minimum consumption X Minimum
time) + Ordering quantity.

Minimum level = Ordering level — (Average consumption X Average time)

None of the above

12



®)

(10)

(11)

Which of the following formula is for overheads recovery rate per hour ?
(a) Actual overheads + Actual hours

(b) Budgeted overheads + Actual hours

(c) Actual overheads + Budgeted hours

(d) None of the above

Which of the following causes of labour turnover rate is avoidable cause ?

(a) Lack of foresight on the part of top management or absence of planning or
Defective planning

(b) Dissatisfaction with job
(c) Relations with supervisors

(d) All of the above

Which of the following cost is/are affected by learning curve ?
(a) Direct wages

(b)  Cost of production

(c) Variable overheads

(d) All of the above

(12) Which of the following factors is not affecting pricing policy ?

16H-102

(a) Cost of production
(b)  Quality of the product
(c)  After sale services

(d) None of the above

13 P.T.O.



(13) Which of the following matters is related to target pricing ?
(a) Sales maximization
(b)  Keep out competitors
(c) Desired rate of return on capital employed in a product

(d) All of the above

(14) Which of the following factors is a limiting factor in product pricing ?
(a) Consumers demand and perception
(b) Government laws
(c) Competitors reaction

(d) All of the above

16H-102 14



Time : 3 Hours]

16H-102

May-2015
M. Com., Sem.-II

411 EA/EE : Cost Accounting — I
(New Course)

Seat No. :

[Max. Marks : 70

1o s [afes d- [salel aslaa [saell uald Yool vl ©. di 31340 w2, 2015+

A% drl A3l AL uglail dani 2udl ¢ 14
LRI GuR () ¥HL (T)
AL vidladl [Haset vid 3,60,000
A1Y, 514 vitdladl [FaseL vid 3,40,000
dulz e vidladl RaseL vid 2,60,000
RIEIR1 vild 1,60,000
ol vild 2,00,000
galelR vild 2,40,000
s1aHl Hetsdl vid 11,00,000
A5l sl vild 6,40,000
ARl oL vild 1,00,000
10% <l 65 @i vid 2,00,000
L R{IEIN 14,00,000
25,00,000 | 25,00,000
15 P.T.O.
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3141 412l 201540 Y YA Adl AL dil AdelRl 12 Yol ¢l :

EEI) ®)
HlaAMl GaRr wRlel 16,00,000
A5 Ul OUILHLS 40,000
VL ool HIZ HiaUMLL Gair uiRlel 30,000
AUIFL2UA U S HIAALHLA 20,000
Beule 1L AUA HIAALHLA 18,00,000
HlAUHLAL ALHLL 610U 10,000
HIAUHLAL AALHLU 6218 30,000
AHIRSIH V0L UUA HIAALHLA 40,000
Gaules w3l ysdl 18,70,000
AUR S 20l 1] Ysdl 1,00,000
ALY [AsY 1qnyl 1yl ysdl 10,000
RAMLA [HsY Axa-l vyl 3sdl 20,000
ay e(Hal duR 24dd WA (W3dR) 48,00,000
GalR L8l 63,00,000
e Ha-l ysd 50,00,000
sIRviAL uRla vl A5l ysou 8,00,000
sIRvilAL uRla vl qyeld 9,60,000
adladl ule v Asel ysl 2,60,000
adladl ule vl ayald 2,40,000
diel [adzel val Asell ys 2,00,000
QAR (51201 40,000
ARISIRIA LRl YsAi 16,70,000
gallelRl WAl Houl 64,40,000
d21 UGl Y5l (S1RViLALAL WAL AHIAA) 10,000
519l Basdi-l Asdl wlel 1,30,000
gl 1,70,000
ysde €3 50,000
SesHea 4,00,000
olvs dirl U AU 20,000

As(UA vildladlHl 330 vildl ddiR s 2t $13 AAY, oet-ldl.

16H-102

29

16




1o [uyy afesdl usdeAl vidiadld di 1 dl 20a, 201470 A 2 uHiel oslil

gdl : 14
ERI GuR ) ¥HL (T)
HaAHd vildladl [HaseL vid 90,000
A1, 514 vitdladl [RaseL vid 85,000
duz e vidladl [Haswe vud 65,000
sl (AR w2l (s vid 4,000
adladl BRIzl vl (M= vud 2,000
AL vldlddl [Ra=1eL vid 2,38,000
2,42,000 | 2,42,000
3141 412l 20154 A% YA Adl AL dtl AdeRl 12 Yol ¢dl ¢
ERIR] ®)
HaA™LAHAL Gaur vlel 4,00,000
HICERRICRETRIICTRS 10,000
vl ool HiE HidAHLAAL GaIR uRlEl 7,500
QUIFI2AA YRd S0 HLAAMLA 5,000
Bculet 10l UUA HIAWUHLA 4,50,000
HlAALHLA AL ALHLRL 6213 2,500
HLAALHLAAL AL 610U 7,500
AHR S 210l A HIAAUHLA 10,000
Baules w3l ysdl 4,67,500
AUR S 2ol 1] Ysdl 25,000
ALY [AsY 1qnyl 1yl ysdl 2,500
RAMLY [HsY Axa-l vyl 3sdl 5,000
ay e(Hal dUR 24dd WA (W3dR) 12,00,000
GuR duLBl 15,75,000
g Hddl usd 12,50,000
sIRviAL uRla vl A5l ysou 2,00,000
sIRvilAL uRla vl ayeld 2,40,000
adladl ule W Asel ysl 65,000
adladl ule WAl ayald 60,000
del [adzel val Asel ys 50,000
usdR vildlaglil #3301 viidl 2 31 L w2l 201540 A YL oAdl Qg 51y 49y

dUR 5.
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2.

ERR X Y
BeUlert-l 54l 15,000 10,000
Uil salsl (2Usuels) 6 3
UL HYR SAlSL (AsHLLS) 3 5
uiEleldl w8l vl 100 50
alsaell-l 2ival 300 100
isuels MaALt WA () 100 200
wisHels vyl v (3) 60 100
%el-oel uglaildl usdr {12 oo 9 :
4
gl HLRA 3,50,000
YiBts uald 2ualRd 9,60,000
uilel 28 R 90,000
sl vl 2u8Rd 1,20,000
15,20,000

WsHEls A 54 UddR Wats uellAsld Uglavl A Uyl 2ERd uidR
uglaxl dalr sU.

24

16H-102
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uRle Al Ucds 1YL sAlsl uR 2UERA 9.

(B) udlt 2HRd usd? Ygldl s14el AHAl.

(A) usulasld ugld 24 U9 UHRd UsdR ugld-dl dsiad axadl.

ol [AfHes ol Uglall X 24 Y ot 9. ol Yslalld 215 % UsIRAL Aol glRL 2 218
% UsIRAl WBALAL 2UAR Gedle 53 9. i oindl [QardarR wledl 2 yae o ;
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3. ABC Gcuwes 5usdl d-ll Gaulealsdl 80% Al 40,000 sl Geuled $2 €9 i

N

M5HEls T 250 AVl dd, dau18lL 530 T 50+l AR 5L SHA ©. 14
ardl d2ueL usdz -l Yot ¢

ULEL HIAAIHIA % 80

g 1yl % 60

sRUUALL RRWRL WAl T 40 (50% RaR)

Qe BRI Wl T 20 (25% aldd)

Al el d wedl o Avaml Gauled s2AL ML €9, URd, drdl dRRIL A 9 3

(a)
(b)
(c)
(d)

d-l RaR Ysd™i 20% -l q4IRl Ul
ug 1YL ML 20% il dAdIR] A9l
UAE HIAAMLAAL GULAHL 5% Ll QHIR]L U9l
QRIEBHMdul quRl 531 astal s,

NN D

L AL d dl GauledalBd-l ARl 20% e s 28 Ml 9. %

Geuleds uMA d T 15,00,000 Al 51 M99l eld dl del 2 2R He agad Bud
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Seat No. :

16H-102

May-2015
M. Com., Sem.-II

411 EA/EE : Cost Accounting — I
(New Course)

Time : 3 Hours] [Max. Marks : 70
1.  Sodam Limited keeps accounts under integrated accounting system. The following are
the balances on 31% March, 2015. 14
Particulars Debit (%) Credit (3)
Stores Ledger Control a/c 3,60,000
W.I.P. Ledger Control a/c 3,40,000
Finished Stock Ledger Control a/c 2,60,000
Creditors a/c 1,60,000
Bank a/c 2,00,000
Debtor a/c 2,40,000
Fixed Assets a/c 11,00,000
Profit and Loss a/c 6,40,000
Depreciation Provision a/c 1,00,000
10% Bank Loan 2,00,000
Share Capital a/c 14,00,000
25,00,000 | 25,00,000
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Transactions during the year ending 31* March, 2015 were as under :

Particulars ®
Material Purchased on Credit 16,00,000
Carriage inward 40,000
Materials purchased for special job on credit 30,000
Materials returned to suppliers 20,000
Materials issued to production 18,00,000
Normal wastage of materials 10,000
Abnormal wastage of materials 30,000
Materials issued for repairs 40,000
Productive wages paid 18,70,000
Wages paid for repairing 1,00,000
Normal Idle time wages paid 10,000
Abnormal Idle time wages paid 20,000
Goods finished during the year (cost) 48,00,000
Credit Sales 63,00,000
Cost of Sales 50,00,000
Factory overhead paid by cheque 8,00,000
Factory overheads absorbed 9,60,000
Administration overheads paid by cheque 2,60,000
Administration overheads recovered 2,40,000
Selling-distribution overheads paid by cheque 2,00,000
Depreciation (factory) 40,000
Payment to creditors 16,70,000
Received from debtors 64,40,000
Prepaid taxes (included in factory overheads incurred) 10,000
Purchase of fixed assets by cheque 1,30,000
Donation 1,70,000
Penalty paid 50,000
Income-tax 4,00,000
Interest on Bank Loan 20,000

Prepare necessary accounts in the Integrated Ledger and prepare a Trial Balance.

OR
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1.  The cost Ledger of Piyush Limited showed the following are the balances as at 1%

April, 2014.
Particulars Debit (%) Credit (3)
Stores Ledger Control a/c 90,000
W.I.P. Ledger Control a/c 85,000
Finished Stock Ledger Control a/c 65,000
Factory Overheads Control a/c 4,000
Adm. Overheads Control a/c 2,000
General Ledger Control a/c 2,38,000
2,42,000 2,42,000
The following transactions took place during the year ended 31% March, 2015 :
Particulars ®
Materials purchased on Credit 4,00,000
Carriage inward 10,000
Materials purchased for special job on credit 7,500
Materials returned to suppliers 5,000
Materials issued to production 4,50,000
Normal wastage of materials 2,500
Abnormal wastage of materials 7,500
Materials issued for repairs 10,000
Productive wages paid 4,67,500
Wages paid for repairing 25,000
Normal Idle time Wages paid 2,500
Abnormal Idle time wages paid 5,000
Goods finished during the year (cost) 12,00,000
Credit Sales 15,75,000
Cost of Sales 12,50,000
Factory overhead paid by cheque 2,00,000
Factory overheads absorbed 2,40,000
Administration overheads paid by cheque 65,000
Administration overheads recovered 60,000
Selling-distribution overheads paid by cheque 50,000

Prepare necessary accounts in the Cost Ledger and Trial Balance for the year ended on

31" March, 2015.
16H-102
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2. Jyoti Limited manufactures two products : X and Y. Both products are produced with
the help of same machinery and similar processes. The detailed information about both

are as follows :

Particulars X Y
Units produced 15,000 10,000
Machine hours (per unit) 6 3
Direct labour hours (per unit) 3 5
No. of purchase orders 100 50
No. of set-ups 300 100
Material cost per unit (3) 100 200
Labour cost per unit () 60 100
The costs of various activities are as follows :
4
Related to volume 3,50,000
Related to Machine activity 9,60,000
Related to Purchase order 90,000
Related to No. of setting-up 1,20,000
15,20,000

Overheads are based on direct labour hours.

Prepare cost statement showing per unit cost and total cost conventional method

and under Activity Base Costing method.

OR

2. (A) Explain the difference between conventional method and activity base costing.

(B) Explain the advantages of activity base costing.
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3. ABC manufacturing company produces 40,000 units at 80% production capacity and
earns an average profit of ¥ 50 by selling it at ¥ 250 per unit.

Its cost of sales is as follows :

Direct Materials T 80

Direct Labour T 60

Factory Overheads ¥ 40 (50% fixed)
Selling Overheads % 20 (25% variable)

During the current year, they intend to produce the same number but anticipate that

(a)
(b)
(©)
(d

Their fixed costs will go up by 20%.
Rate of direct labour will increase by 20%.
Direct material price will increased by 5%.

Selling price cannot be increased.

Under these circumstances they obtain an order for a further 20% of their capacity.
What minimum price will you recommend for accepting the order to ensure the
manufacturer an overall profit of ¥ 15,00,000 ?

3. (A
(B)

4. (A

16H-102

Assume that the fixed cost is recovered from the current production. 14
OR
Explain the factors affecting on pricing policies. 7

Explain the advantages of Full cost pricing.

Dhriti Manufacturing Limited has received a contract for supplying 140 water
pumps. They have just completed an initial run of 20 pumps at the following

cost : 7
Particulars ®
Direct Material (20 x ¥ 20,000) 4,00,000
Direct labour (80,000 hours at ¥ 4) 3,20,000
Tooling cost (reusable) 80,000
Variable overheads (X 1 per labour hour) 80,000
Fixed overheads 2,00,000

An 80% learning curve is thought to be pertinent in this case. The marketing
manager believes that the quotation is unlikely to be accepted if it exceeds
% 42,00,000 and as the company is short of work, it believes that the contract to be
vital.

You are required to comment whether it is worth accepting at ¥ 42,00,000.
State your assumptions.

OR
28



(A) Explain the difference between Cost Control and Cost Reduction.

(B) The usual learning curve model is as follows : 7

y=ax

b where y = Average time per unit

a = Time for the First unit
x = Cumulative number of units

b = Learning co-efficient

Calculate total time for 51 to 60 units.

If a =100 hour and b = — 0.152 for 90% learning curve.

Following information is given :

log 1 =0.0000 Antilog 0.7418 = 5.518
log 5 =0.6990 Antilog 0.7297 = 5.367
log 6 =0.7782

OR

(B) Explain the methods of Cost Control.

5. Select the appropriate alternative. 14

(1) According to Integrated accounts which of the following statement is true ?

2)

16H-102

(a)
(b)
©

(d)

As two separate set of books are not to be kept so work is not duplicated.
It has been possible to introduce mechanization of accounts.

there is no need to reconcile the profit or loss of books of financial accounts
and cost accounts.

All of the above.

According to Integrated accounts which of the following statement is false ?

(a)
(b)

©
(d

As both types of accounts are combined, it does not create confusion.

As both accounts are integrated, if any expenses is left out, it can easily
traced out.

Financial accounts and cost accounts shows different profit or loss.

All of the above.
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(3) According to Non-integrated accounts which of the following statement is false ?

“4)

(&)

(6)

16H-102

(a)

(b)

©

(d)

Recovery of factory overheads is debited to work in progress ledger control
account.

Recovery of administration overheads is debited to finished stock ledger
control account.

Recovery of selling & distribution overheads is debited to cost of sales
accounts.

None of the above.

Which of the following is the character of activity base costing ?

(a)

(b)
(©

(d)

The overheads are absorbed on the basis of benefits received by different
cost centres from various activities.

Attention is centred on cost drivers in order to control the cost.

The overheads are apportioned not over various departments but over
various cost pulls.

All of the above.

Which of the following activities is connected activity with the cost driver of no.

of purchase order ?

(a)
(b)
()
(d)

Issue of purchase order
Analysis of proposals
Negotiations with suppliers

All of the above

Which of the following activities is connected activity with the cost driver of no.

of workers ?

(a)
(b)
(©)
(d)

Training
Recruitment
Interview for promotion

All of the above
30



(7)  Which of the following matters are not included in inventory control system ?

(a) ABC system of inventory control.
(b) Fixing various Quantity levels of inventory.
(c) Classifying and Identifying Inventory.

(d) None of the above.

(8)  Which of the following formula is not true ?
(a) Ordering level = (Maximum consumption X Maximum time)

(b) Maximum level = Ordering level — (Minimum consumption X Minimum

time) + Ordering quantity.
(c)  Minimum level = Ordering level — (Average consumption X Average time)

(d) None of the above

(9) Which of the following formula is for overheads recovery rate per hour ?
(a) Actual overheads + Actual hours
(b) Budgeted overheads + Actual hours
(c) Actual overheads + Budgeted hours

(d) None of the above

(10) Which of the following causes of labour turnover rate is avoidable cause ?

(a) Lack of foresight on the part of top management or absence of planning or

Defective planning
(b) Dissatisfaction with job
(c) Relations with supervisors

(d) All of the above
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(11) Which of the following cost is/are affected by learning curve ?

(a)
(b)
(©)
(d)

Direct wages
Cost of production
Variable overheads

All of the above

(12) Which of the following factors is not affecting pricing policy ?

(a)
(b)
(©
(d)

Cost of production
Quality of the product
After sale services

None of the above

(13) Which of the following matters are related to target pricing ?

(a)
(b)
(©)
(d)

Sales maximization
Keep out competitors
Desired rate of return on capital employed in a product

All of the above

(14) Which of the following factors is a limiting factor in product pricing ?

(a)
(b)
(©)
(d)

16H-102

Consumers demand and perception
Government laws
Competitors reaction

All of the above
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